~(2)-Il= J&L 1 (2)= J &L (to express a supposition based on
intuitive/subjective reasons)

Class Objective:

I'll be able to express a statement that I'm not exactly sure of. I'm guessing that's the case.

The sentence pattern for using this grammar will be:
e Adjective / Past tense Verb + - /2 21 2t Ct
e Presenttense Verb +-= 24 2 Ch
e Future tense Verb + -2/2 21 2t

Concept A: When supposing the occurrence of an action or situation.

This expression is used when supposing
e that something happened in the past
e the occurrence of an action or situation that has yet to occur.

It corresponds to "looks/sounds like" or "appears that" in English.

1. For present tense adjectives and past tense verbs, ~(2)- is added to the stem.
2. For present tense verbs, ~= is added.
3. For future tense verbs, ~(2)2 is added.

Example 1:
A. ~2/- N 2Lt is used with action verbs to make similar conjectures about the past.

dgi= Qe AYUM 4Za4S "2 2 20tK. - That man probably ate samgyeopsal
at the tasty restaurant.

MM &0l =2 20| Or&l 24 2 0t. - It seems like you drank a lot of alcohol last night.

At =20 S A AEsH 2 20tR. - They probably went shopping in Myeongdong last
weekend.

Grammar breakdown and vocabulary :
_1 - that

g At - man

OFACt - to be delicious/tasty

St = - delicious/tasty (noun modifier)
Al - restaurant

Xl - yesterday
- night

- alcohol

0l - alot
tAICH - to drink
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